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Q1. Before it is approved by both Houses of Parliament a Presidential Ordinance
can remain in force for the duration of-

¥4e & I Gadl gRI SfHIGd fby M & Usd APUld G &
Ay fohads WU dFh o] X§ Tl o-

(a) For three months /?ﬂ:T Il_sﬁ%[
(b) For six months/<5 : II—@%[

(c) For nine months /'—'ﬁ qépﬁ
(d) Indefinitely/ YT &1d & ﬁﬂ{

Solution:

Promulgation of an ordinance has to be ratified'by the President. Such ordinances
carry the full force of a law madeybythe'legislature with one catch. The law only
remains in force for sixXweeks oncethe Parliament is reconvened, at which time it

must be approved@,by both Houses of Parliament in order to become a law.

Q2. The power to grantypardon or suspend or remit the sentence of any convicted
person is vested'in the-

fedt +ff Ot “Sfedl s g @ A% B g1 Fdfad w1 gem B
vfea fpd Fnffed g -

(a) President/TI'gtIﬁ
(b) Vice President/ 3U - Tl'gqﬁ

(c) Supreme CourtJudge/{-IdTUd qOTAg & AT




(d) Defense Minister/ X&T AT
Solution:

A President is empowered with the power to pardon under Article 72 of the
Indian Constitution. Article 72 says that the President shall have the power to
grant pardons, reprieves, respites or remissions of punishment or to suspend,
remit or commute the sentence of any person convicted of any offence.

Q3. The second most senior office in the country is of

N HT W Y aRy sEfedd @ g

(a) Office of the President of India/ HIRd & ?quﬁf P PRI
(b) Office of the Prime Minister of India/AHIXd PNUYTT HAl BT BT
(c) Office of the Vice President of India/aHTd >, WIEUﬁ[ CARCARINE

d) Office of the Chief Justice of lndi@A{Rd & H9 Tt &1 HrEed

Solution:

Article 63 of Indiani€onstitution states that "there shall be a Vice-President of
India." The Viee-President actsas President in the absence of the President due to
death, resignatioh, impeachment, or other situations. The Vice-President of India
is als@ ex officig,Chairperson of the Rajya Sabha. Venkaiah Naidu is the Vice
President of India.

Q4. By which of the following method, Prime Minister of India is selected?

fFofafaa & @ f5g (Y @ yRa & vym 55 &1 999 fpar S g2

(a) Election / g-Td
(b) Appointment/ﬁ'{[ﬁ[




(c) Nomination / THIbA
(d) Selection/ dd-q
Solution:

Prime Minister is not elected in India. It is appointed by the President. People
vote for Member of Parliament and the largest party (either by winning or
coalition) with majority of Winning MPs chose one among themias their Leader.
He should be a member of any house ( Lok Sabha and Rajya’Sabha).

Q5. In India, Prime Minister can hold his post till, he has -

YR & gy A b db Ul US URUR, B Gbd o?

(a) Support of armed forces/ HRI¥d i L IHA
(b) Confidence of Rajya Sabha/ XIS WIH] ] fagrg
(c) Confidence of Lok Sabha/ NG R EIACA faymg

(d) Support of people/?ﬁ"ﬁ BT JHYT

Solution:

The primeyminister serves,on 'the pleasure of the president'. A prime minister
must have theyconfidence of Lok Sabha, the lower house of the Parliament of
India.

Q6. Wha,is the chairman of NITI Aayog?

A ST & TIRET B B>

(a) President/TI'gtIﬁ

(b) Prime Minister/UTd HAT




(c) Finance Minister/ﬁ?‘[ AT
(d) Vice-President/ 3U Tl'gqﬁ[

Solution:

The NITI Aayog (Hindi for Policy Commission), also National Institution for
Transforming India was established in 2015, by the NDA government, to replace
the Planning Commission which followed a top-down model. The,Prime Minister
is the Ex-officio chairman.

Q7. Articles 74 and 75 of Indian Constitution deal with matters of-

YR TfeUM & =g 74 3R 75 forw, ¥ JEfdd ot

(a) Council of l\/Iinisters/ﬂ'ﬁ'cl'[)\"lsﬁir
(b) Speaker of Lok Sabha/TIHIHT & BT

(c) President of India/HIXd &> ﬂgqﬁ
(d) Cabinet Ministers/%ﬁel—cf HEAT

Solution:

Articles 74& 75)0f the constitution of India deal with the Council of Ministers.

Q8. According te, Indian’ constitution, Central Minister will hold his post at the will
of-

YR Sigei & SFOR, hard T3l fod &1 ST & aR Ul Ug
YT~

(a) President of India /HRRd & Tl'gqﬁ[

(b) Prime Minister of India/HRd & U HAT




(c) Parliament /G
(d) Supreme Court/ﬁl;ﬂﬂ PIS

Solution:

Article 75(2): The Ministers shall hold office during the pleasure of the President.

Q9. Who appoints the Attorney General of India?
YRd & HeraaK! &t FHgfad o &Rl 82
(a) Chief Minister of India/HRd & qo AT

(b) President of India/HRRd & TI'E'CIﬁ

(c) Law Minister/ﬁf‘a AT %

(d) Prime Minister of India/
Solution:

Attorney General is appointed by the President on the recommendation of Prime
Minister.

Q10. Naren odii Prime Minister of India-

ERE "~!ii§L~b EEIE I E

(a) 5th
(b) 10th
(c) 14th
(d) 18th

Solution:




Narendra Damodardas Modi is an Indian politician serving as the 14th and current
Prime Minister of India since 2014.

Q11. Attorney General of India has the right to audience in

YR & TG & U T gIaR & AUDR g2

(a) any Session Court/ qﬁ:{ NERRZIEIGE

(b) High Court/ 3= TdIclY

(c) Supreme Court/ S=dH UTYTclY

(d) any Court of law within the territory of ifidia/ HIRd P T & R ﬁ’&p
Wt <grmer

Solution:

Attorney General of India hasffight of audience'inb all courts within the territory of
India. He has also the right to speak‘andtake'part in proceedings of both the
houses of parliament including jointisittings. But cannot vote in parliament.

Q12. What is thederm of the.appointment of Comptroller and Auditor General of
India?

YRA & gadn, 3R Agicar wiee & Fgfad &1 93 @ 82

(a) 6 years/a'ﬁf
(b) Upto the age of 65 years/ 65 ay @t S do

(c) 6 years or upto the age of 65 years whichever is earlier /6 Iy g1 65 I¥ Pl

3 d& ot ugd &l
(d) Upto the age of 64 years/ 64 ay @t Y do




Solution:

The CAG is mentioned in the Constitution of India under Article 148 — 151.The
CAG vacates the office on attaining the age of 65 years even without completing
the 6 years term by impeachment also.

Q13. Implementing laws is the function of

ST BT AN HAT [HADdT I 82

(a) Executive / PTRIBRT HIABRI
(b) Legislature/ Ta8T HSA

(c) Judiciary / =ORIdA

(d) Local list/ RITHII !

Solution:

The executive is one of
implement the laws
government.

Q14. Under

(a) Commutation /ﬁﬁm
(b) Remission/ &HT
(c) Respite /Ih_E}FI?T




(d) Reprieve/ GUSIARTH

Solution:

A President is empowered with the power to pardon under Article 72 of the
Indian Constitution. Article 72 says that the President shall have the power to
grant pardons, reprieves, respites or remissions of punishment or to suspend,
remit or commute the sentence of any person convicted of any_ offence.

Q15. In Pocket Veto, the President of India can keep a bill forshow méchduration?

e G B uRd g R ol B M R a\ase B

(a) 1 month /A&

(b) 6 months/ﬁ_spfaf

(c) 12 months /ngﬁ

(d) Indefinite period/ IRIEERC L
Solution:

A pocket veto is a legislative'maneuver that allows a president or other official
with veto power to exercise that power over a bill by taking no action (instead of
affirmatively, vetaing it).

Q1. The Parliament ofindia is a bicameral legislature composed of —

R &l JUENTs fgaeia fauer 8, et A -

(a) Legislative Assembly, Legislative Council and Lok Sabha/ faegm YT, faum

gy 3R AHIHT

(b) Lok Sabha and Rajya Sabha/ @IGOHT 3R ITFHT




(c) Lok Sabha and Legislative Assembly/% JuT 3R Ry Iur

(d) President, Lok Sabha and Rajya Sabha/ Tl'gcﬁ%[, ABIHT 3R ITIHT

Solution:

The Parliament of India is the supreme legislative body of the Republic of India. It
is @ bicameral legislature composed of the President of India and_the two houses:
the Rajya Sabha and the Lok Sabha.

Q2. What is the main responsibility of the legislature is-

faeRier @t T et &1 82

(a) Central administration/aﬁﬂ UMM

(b) Creation of Iaws/ﬁﬂfﬁ &1 @i

(c) Execution of judicial matters/w HHGI BT ﬁw
(d) Execution of Iaws/ﬁ'_fﬁ HINTIGH

Solution:
The main responsibility of the legislature is the creation of laws.

Q3. Bicameral Legislature'means

feogia Guer &1 o 8-

(a) Primary and secondary legislature/ e R AreEfie R
(b) Lower and Upper Chamber/ﬁ?IFIT R FW TR

(c) Lok Adalats and Courts/ Al 3feTad 3R ey

(d) Elected as well as selected members/ﬁaﬁﬂ dUT TafAd g™




Solution:

A bicameral legislature simply refers to a particular body of government that
consists of two legislative houses or chambers. In certain variations, a bicameral
system may include two parliamentary chambers.

Q4. Which of the following is the pair of two temporary houses of parliamentary

structure of India-

FofaRad § ¥ F YR & U9CH G & ol SIRIEL TRi(PhgH 2

(a) Lok Sabha and Legislative Assembly/w JAT 3R, faemgT
(b) Lok Sabha and Legislative Council/ AH U, NI IRLT
(c) Rajya Sabha and Legislative Council /XTSI HT 3R AU uRug

(d) Rajya Sabha and Legislative Assembly/ XIS H¥1 3R fau™ g
Solution:

The Lok Sabha (Housé of the People)'is,the lower house of India’s bicameral
Parliament and Vidhan Sabha or the Legislative Assembly is the lower house (in
states with bicameral) or the'solé house (in unicameral states) of the state
legislature.

Q5. Building ofithe Parliament of India is called___.

HRd & Tclic &t SHRD &I HT Bl oidl §?

(a) Sansad Bhavan /Id¢ Hdd
(b) Lok Sabha Bhavan/@l® IJHT Had

(c) Rajya Sabha Bhavan /RIvd HHI Hdd




(d) Sarkar Bhavan/dXhIR Hd-
Solution:

The Parliament of India is the supreme legislative body of the Republic of India. It
is @ bicameral legislature composed of the President of India and the two houses:
the Rajya Sabha (Council of States) and the Lok Sabha (House of the People). The
Parliament meets at Sansad Bhavan in New Delhi.

Q6. The election of member of Rajya Sabha is done for theqdurationof?

T T & o & gAd fha-t o@fd & U8 f&d Sdye?

(a) Two years /& a§
(b) Four years/aR a4
(c) Five years /91 a8
(d) Six years/&: d¥
Solution:

Rajya Sabha members are electeddby the Legislative Assembly of States and Union
territories by‘means ofiSingle transferable vote through Proportional
representation. 1talso hasil2 members who are nominated by the President of
India Memberssit for staggered terms lasting six years, with a third of the
members yupfor election every two years.

Q7. Who'ean dissolve Rajya Sabha?

ITYYT B HIH HT B Ihdl 22

(a) The Chairman of Rajya Sabha/ XIGYHHI & gHTMA

(b) The President/TI'glJﬁ




(c) The Joint-session of Parliament/ G BI Fﬂaﬁ BSE|

(d) None ofthese/iHDf | Ob\lir G
Solution:

Members sit for staggered six-year terms, with one third of the members retiring
every two years. The Rajya Sabha meets in continuous sessions, and,unlike the
Lok Sabha, the lower house of Parliament, is not subject to disselution: However,
the Rajya Sabha, like the Lok Sabha can be prorogued by thé"President.

Q8. Number of members of Rajya Sabha that retire infévery two years?

ATIHT & o™ HI AT S B &l 9, H Ja—gaesia o?

(a) Al /5T

(b) One fourth/T&® dTIUTS
(c) Half /319

(d) One third/T& fdgTS
Solution:

In Rajya Sabha'membersisitfor staggered six-year terms, with one third of the
members retiking every two years.

Q9. Who is‘the Chairman of the Rajya Sabha?

I GHINBITHTT S BraT &2

(a) President of India / HIRd & Tl'gqﬁ[

(b) Prime Minister of India/ HRd & JYE H3AT




(c) Vice-President of India/ HIRd & G"CITIE'CI'I%[
(d) Speaker of Lok Sabha/ AGIHT e

Solution:

The Vice President of India is the ex-officio Chairman of the Rajya Sabha, who
presides over its sessions. currently, Venkaiah Naidu is the chairman of the Rajya
Sabha.

Q10. Which of the following Article defines the minimum/age to'qualify for Lok
Sabha Elections?

fafafad & ¥ &F 91 sfwe AieaHT g1d oy, [l Sfgal W $He
& fou gaw oy Fuffva &=ar g2

(a) Article 84 (b) / 3G 84 (b)
(b) Article 80 (b)/ 3T=5G 80(B)
(c) Article 81 (a)/ 3@ a )81 (a)

(d) Article 85 (b)/A3TT=5G 85 (b)
Solution:

Article’84 (b)'ef Constitution of India provides that the minimum age for
becoming acandidatefor Lok Sabha election shall be 25 years.

Q11. In'which year, “House of People” was named as Lok Sabha-

frg o | gey 3 Nua” AeaHT & *U H g fear mar ur




(c) 1974
(d) 1984
Solution:

The members of the Lok Sabha are elected directly by the people of India through
democratic elections. Hence, the Lok Sabha is called the lower house of the

Q12. Which of the following Article deals with Qualificati
the State Legislature?

fafafea § 9 ®F a1 srgwe I f§
Irgar ¥ g&fda g2

(a) Article 84 / @Iﬂ%_d 84 %
(b) Article 170/ @Iﬂ%_c‘{ 17

(c) Article 173/ 73

(d) Article 123/
Solution:

onstituti f India deals with Qualification for membership of the

first Chairman of Rajya Sabha?

IATIHT & Ugd 3eme piF U2

(a) G. V. Mavalankar/\_rﬁ G ICNERY
(b) Dr.Zakir Husain/@ﬁ.W E@q




(c)Dr.S Radhakrishnan/?a:f U YTp g
(d) Dr. P.V. Cherian/?a:f . a. Ifmq

Solution:

According to the official website of Rajya Sabha, the first time Council of States
was constituted was on 3 April 1952. It had 216 members, of whigh

nominated woman member — Rukmini Devi Arundale. The first Cl

S Radhakrishnan, also the first Vice President of the nation

Castes and Scheduled Tribes in Lok Sabha?

AHgHT # SIYfId Sifadl 3R

(a) 39
(b) 85
(c) 109
(d) 131

Solution:

For eduled te seats are reserved in Lok Sabha. For Scheduled Tribes,
r

47 seats a in Lok Sabha.

Q15. Whi e following is the first woman speaker of Lok Sabha-

fFafifad ¥ ¥ oF diegy @ ugel Afgen e 82

(a) Meera Kumar / HIRT PHAR




(b) Sonia Gandhi/?ﬁﬁtﬂ Trieft
(c) Sushma Swaraj / JUHT RIS
(d) Margret Alva/ﬂ'l"'ﬁ_cr SHcdl

Solution:

Meira Kumar. Meira Kumar is an Indian politician and five-time r
Parliament who was the United Progressive Alliance nominge o
India in the 2017 election. She was elected unopposed as

of Lok Sabha and served from 2009 to 2014.
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